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P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% A FI054£04 7 14 H eI Dt e/ 53 ko (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

X R = 10. 00| AHxf 190 1, 900 756 659 432
IENE w5 10. 00 | #H5%f 508 5,080 1,836| 1,784 1,188
X 5D I 12. 00| AH%F 391 4,692 1,512 1,098 11
E 9 NAE T i 0.20| #Hf | 2,620 524 140 103 76
e voolfxt| 8| 21 | 1,044
H % i 3. 00| FHxf 233 699| 1,188] 1,010 864
H A ] 1L 1. 00| FHxf 220 220 432 290 162
ENIEE 500 fxt| 23| 115 1,944 1,193 810
AN B 2. 00| FH*} 161 322 1, 080 1,007 648
= O 4. 00| FH%f 368 1,472 2,052| 1,548 972
[ I\ w5 5. 00| FH%f 577 2,885 1,890 1,496| 1,188
= m | s.00 fxt| 90| 450 1,944 1,728 1,188

I ==2—3 | 10. 00| FH%f 19 190 5,184
~7 b= b M 3. 00 [ FHx%} 50 1501 1,512 1,503| 1,404
SR gL 2. 00 [ FH%} 28 56| 3,024 2,542 2,484
£ A AL E 20. 00 | #H 5%} 16 3200 2,592 2,565 2,376
(@ | 1000\ fEKE|  s7R| 5,750| 1,206| 1,006 648
L&A O 10. 00 | #856f 245 2,450 2,592 1,825 756
P=—LF R f& [l 4. 00| AH%F 431 1,724 1,512 890 540
Tuyal— (r— 6. 00 | FHxf 147 882 3,402 3,150| 2,916
= 1| 6.00 FIxf| sl 108 3,240 2,856 2,808

+Lxon =St 4. 00| FHxf 12 48 2, 484
AEHEE w5 0. 10| #Hxf | 2,850 285 151 102 65
ZDXH E % 0. 20 | FH %} 1, 470 294 78 56 42
LU 5 % 0. 20| FA%F 210 42 86 68 32




ID:1210 pP- 2

P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE A FI054£04 7 14 H EFER S 17 b (Biir)
fh 4 JE Hh & Wae | %K F e T fE g2y ]

5 U H & 10. 00| FA % 375 3,750 3,240| 2,845 2,160

Yajfa— H & 10. 00 | #H%f 15 150 4,104

Avara 7 4 U E | 13.00| fH%f 45 585 3,024 2,567 594

bHFEED @ [ 0. 27| FHxf 2,173 586 378 335 281

S X EF I 0. 25| A%} 4, 096 1,026 432 330 162

BHDY S 5 0.25| #Hxf | 2,120 531 313 257 119




